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Or entirely by an enactment of the sages — 251 nIpn2 910 N

OVERVIEW

x70m 27 ruled that if the %W said 1¥n 1"1921 1910 5"192 and there were two 7Y
authenticating the signature of the other 7V, nevertheless it is 9109, while X2
refuted this ruling of X701 27.! Our M9oN explains what their dispute is based on.
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X701 27 maintains that the %2 is not so particular (to carry out his duty) when
the entire testimony is not sustained solely by his statement -
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However, X317 maintains that nonetheless the "> is very particular to be present
by the 77°nm 72°n3 even in such a situation, and therefore the v3 is W2,

SUMMARY
The dispute between X271 1" is whether or not the m%w is 7, when he is not
solely responsible for the entire testimony.

THINKING IT OVER

1. From nmooin it appears that the dispute between X2 119 is whether the oW is
™7 (the view of X27) or not (7"7); however from the X71X it seems that 1"7
maintains 137 A7 201°22 1712 W while X327 maintains 121 71 ®2X n. How can we
reconcile these seemingly different arguments?!?

2. 1"1 maintains that since the N17¥ is not 17° ¥ 1912 nn>>pnn, therefore he is not P>7.
Seemingly by every two 07V it is not 17> 2¥ 175 nn»pnn (through each 7¥), and
nevertheless they are jax1!*

! X327 challenged X701 27 asking, ‘can there be such a thing that one is believed but not two’. maon offers an
explanation for the seemingly puzzling view of 1".

2 The 2w is aware that he does not bear the sole responsibility of assuring that this 3 is w2 (we need the additional
testimony of others), therefore he may not be particularly zealous in actually being present by the 72°n3 of the 03, or
the 712°nn1 (of the one 7v). This renders the 3 to be 9109.

3 See 25 MR M7 NOW.

4 See mwn nom.
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